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SET=PIESETEES 1,045,932 1,929,416 883,484
| 972,960
= 72,972
308 X+XIEHHISOI& 1,045,932 1,929,416 883,484
| 972,960
= 72,972
01 XIS LA 2 ES 1,045,932 1,929,416 883,484
(82 2 S THA LS HIX & 954,600
| 888,000
= 66,600
BETI=PETIn S SVET=E T DSE! 85, 140
| 79,200
= 5,940
(8RS ST AL AT H B K2 6,192
| 5,760
= 432
SHREONESNALKA (2 E) 91,130 34, 143 56,987
= 70, 100
= 21,080
308 X+XI €M S0l & 32,630 0 32,630
=2 25, 100
& 7,530
01 XS HALRBES 32,630 0 32,630
(82 2HESTALYA NS SIS T 32,630
= 25, 100
= 7,530




A HEEALEIIE

M IS (AMIZX/BS - IIEL0H)
SHol: ALBINE2EY (erel: @2
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
403 Xk XI I S XH2 01 & 58,500 34,143 24,357
= 45,000
< 13,500
01 REXISHRIRH = & 5 58,500 34,143 24,357
OS2 2RNE=SRALIs2 2 58,500
= 45,000
= 13,500
HAUBEDNIE X 74,504 233,248 A 188,744
= 64,178
= 10,326
308 XXl EHHI S0l & 74,504 233,248 £ 158,744
= 64,178
= 10,326
01 X SHBABES 74,504 233,248 A 158,744
HAEBRDIIEISYFH I 30,201
= 28,094
< 2,107
OEAHSSRIISZZDAIS S 2,649
= 2,464
< 185
BEPNEEEA=PES =SS 6,192
= 5,760
< 432
OF A2 BIISXHAE & H E X 2 3,612
= 3,360
= 252
BEEEHEES O 31,850
= 24,500
= 7,350
00| S 20/ X/ & 3,508,793 3,249,984 258,809
= 3,109,057
< 399,736
308 X+ XI &+ HI S 01 & 3,508,793 3,249,984 258,809
= 3,109,057
= 399,736
01 RXSHBABES 3,508,793 3,249,984 258,809
C10HI S 201X & 3,508,793
= 3,109,057
= 399,736
ALNINAME 2 734,370 644,800 89,570
= 564,900
< 169,470
308 X+ XI &I S 01 & 734,370 644,800 89,570
= 564,900
= 169,470
01 X SHBAEES 734,370 644,800 89,570




FA HEEAEIIE]
HH: HAIEHM(AMI=ZX/ES - HELHY)

el AYBINELFHEN (B9 &2
_ _ pSNE e
A -3 -H2A(SH) - HEAMY - BES (il & OH @Egj Hlws2

OALIENAAE 2 734,370
= 564,900
= 169,470

23S DSAIL 2 () 56,000 54,000 2,000

308 XHXIEHRI S 01 & 56,000 54,000 2,000

01 KX SHBASES 56,000 54,000 2,000
OGS =LE X TAIRBHIXIR 56,000

GRS IEXMEDISE 2 217,000 0 217,000
y] 217,000

403 TIXI SRS XH= 0| A 217,000 0 217,000
| 217,000

01 XX SHH K2 2 & 217,000 0 217,000
OGRS /MEDI S 217,000
p 217,000

GRS U HE LS 5,614,625 0 5,614,625
p 4,974,976
= 639,649

308 XHXIEHHI S 01 & 5,614,625 0 5,614,625
g 4,974,976
= 639,649

01 KX SHHZAEED 5,614,625 0 5,614,625
(G2 NSHHUTHS SRR 5,614,625
I 4,974,976
= 639,649

IHE IS LUK 1,320,848 1,006,745 314,103
=2 676,467
2 100,757
= 543,624

o2 sSHESA 529,279 492,480 36,799
= 100,757
= 428,522

307 DI2+0| & 201,514 193,320 8,194
= 100,757
& 100,757

NREEEES 201,514 193,320 8,194
OOMESIS T AHE 2D (012) 201,514
s 100,757
= 100,757

308 XX I S0 & 327,765 299, 160 28,605

01 A SHBAEES 327,765 299, 160 28,605
EBIEEEENEIGED 190,800
o220 S HHat st 2 X 2 60,000
OAEAEIIEXIR(012) 16,440
O4AEAHIIZ SIS DS 9,000
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CHEEAEIIEDY
DO EIIEE M (M
(o]

B

SA - EE L SR(E) - MRAY - HAS

[
2

20
B
2

OAEAEIIEUIIE SIS0t SIS RS 13,950
OAEAEIIRUIIH SIS OIS D= 14,625
OAEAEIIEUIIY SIS0t S 28 S L HIX 22,950
SIEIE RPN 7,000 5,000 2,000
307 ©12+0I & 7,000 5,000 2,000
10 AFBI =X 2 % 7,000 5,000 2,000
(121 ¥Z=21)| H S ALK & 7,000
IHESIgotSAHEEE X 95,970 9,367 A397
= 67,179
< 28,791
307 BI2+0I & 95,970 9,367 A397
= 67,179
= 28,791
06 2832 95,970 9,367 397
(DIEIEtsAHE X 95,970
= 67,179
= 28,791
OIS YYAEEED 44,408 45,914 A 1,506
= 39,349
< 5,059
308 XHXISHH S OI & 44,408 45,914 A 1,506
= 39,349
< 5,059
01 HXSHHBARES 44,408 45,914 A 1,506
OISy LASEES 44,408
= 39,349
= 5,059
ST TE= N 3,070 7,000 A3,930
= 2,149
[ 921
308 XHXISHH SOl & 3,070 7,000 A3,930
= 2,149
< 921
01 HXESHBAEES 3,070 7,000 ~3,930
BTSN 3,070
= 2,149
= 921
YAoISYZLY 618,570 338,436 280, 134
= 548,100
< 70,470
308 XHXISHH SOl & 618,570 338,436 280, 134
= 548,100
< 70,470
01 HXSHHBARES 618,570 338,436 280, 134




SN GABAEIIED
BB Ol &SR (A
(o]

Sl IS U AR (el & 2
SA-EH O (BH) - HBAY - B2 0 AF 08 e HRS2
OgedotsdsAE 618,570
= 548,100
== 70,470
ek . JIEEOISAC XS XA 22,551 21,548 1,003
= 19,690
== 2,861
307 212+01 A 1,569 1,569 0
= 1,098
= 471
10 AtSISRIEX 1,569 1,569 0
O - JIIEAE0tS A B E A 1,569
= 1,098
= 471
308 XX SISOl A 20,982 19,979 1,003
= 18,592
= 2,390
01 AXIEMBAEEZ 20,982 19,979 1,003
O - ISt sA XIS A 20,982
= 18,592
= 2,390
BROISILSE(AISEXN/ES - IISLAHY) 233,176,110 196,689, 606 36,486,504
= 161,476,933
== 71,699,177
B MHIAXNR 232,253,595 195,624,033 36,629,562
= 160,905,768
= 71,347,827
SSHMAAG XA 11,300 11,300 0
201 L2 HH| 11,300 11,300 0
01 AR 22| H| 11,300 11,300 0
g gt~EH| 5,000
OE|IBAAS 2R 5,000
Negss 6,300
OBSH |25 LU0 Y| 6,300
EERSSRAA 500 600 A 100
303 ZA= 500 600 A 100
01 A2 500 600 A 100
=SR2 AY 500
BRUNMNJIABLNR 119,784 115,806 3,978
= 59,892
& 59,892
307 2I12+01 A 119,784 115,806 3,978
= 59,892
& 59,892
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I‘IiH:
&l E

O;‘/deAl_qj}J:JJ.
SOSHASA(AMS=X/ES - IIFL0Y)
FSMHIAXIA

_ SIEN
SNBSS - HRAY - BHES O & o4 il ot o HIREY

NS 119,784 115,806 3,978
OESNIABLDS 119,784
= 59,892
= 59,892

ERYIHESY 346,000 346,000 0
=2 173,000
[ 173,000

307 Q1240 & 346,000 346,000 0
= 173,000
[ 173,000

10 A3l =X B X 346,000 346,000 0
OESEBHEHSY 346,000
= 173,000
[ 173,000

ERS2AHIA 32,907,056 29,873,843 3,083,213
= 25,597,140
[ 7,309,916

308 Xt X| &I S 01 ® 32,907,056 29,873,843 3,083,213
= 25,597,140
[ 7,309,916

01 X SHMBAEES 32,907,056 29,873,843 3,083,213
OESSEMHA 32,907,056
= 25,597,140
[ 7,309,916

CENIEPpE] 4,717,764 2,799,736 1,918,028
=2 3,655,533
[ 1,062,231

308 Xt XI EHAI S 01 ® 4,717,764 2,799,736 1,918,028
=2 3,655,533
[ 1,062,231

01 IXSHHMBAEE 4,717,764 2,799,736 1,918,028
mEIESBE 4,717,764
= 3,655,533
[ 1,062,231

AL0ESEI 159,074,634 150,281,720 8,792,914
= 123,813,211
[ 35,261,423

308 Xt Xl EHAI S 0| & 159,074,634 150,281,720 8,792,914
=2 123,813,211
[ 35,261,423

01 X SHMBARES 159,074,634 150,281,720 8,792,914
mEEEEEE 159,074,634
= 123,813,211
[ 35,261,423

O{2I0IZ 010 ROt S LS XY 8,292,645 7,007,228 1,065,417




Sk
I‘IiH:
&l E

O;‘/\‘|X-IAL§|)|.3:J_|.

SOHSHAST(MRSEX/ES - IIF

S MU AKX

u]

2

A

SN S(B) - NRAY - B2 Aro e =2
= 6,333,258
= 1,959,387
308 KX SHHS0IA 8,292,645 1,065,417
=2 6,333,258
& 1,959,387
01 IXNHHBHEXS 8,292,645 1,065,417
Lo old0loIE0tsY=X& 8,292,645
= 6,333,258
= 1,959,387
EFKCHMEL3 130,000 218,000
307 2120l & 90,000 218,000
10 At2ISXIE =X 90,000 A 18,000
O ol&dAS s 23 25,000
OO0l 23S 25,000
OR=wUHAZ AU X 15,000
OO - HEMSEEZz 0 10,000
Oogodedstaz2 I 10,000
W T w O X & 5,000
308 AtXICHM S 01 ™ 40,000 0
01 AXHHBLEEZ 40,000 0
OEsoliisl 40,000
ESDNAAASH 2,097,900 0
308 AtXIEHM S 01 2,097,900 0
01 IXNHHMBANELS 2,097,900 0
O2sudIA==gX 2,008,800
OXMHOIESnAMASEE L 89, 100
ESEZHHELS 180,000 A120,000
307 2I2tol A 150,000 220,000
10 AlRISXIE X 150,000 20,000
OEsd¥EE 10,000
OEEJBHHEZIH2Y 20,000
OZMotE=E2 032 25,000
OS2 )#2H 35,000
OWel 0l 82LIHEH=2Y 20,000
OB ESXAHTZ)HRE S 40,000
403 AHXIEHH S X201 30,000 A70,000
01 tXISNH X2 E X 30,000 270,000
OESFZBHHIISEZ 30,000
HAE=845} 22,749,552 20,430,352
308 AtXIEHM S 01 ™ 22,749,552 20,430,352
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SN

HedEAEIIE
X

N ]

I BR0sSHAST (A =EXN/ES - 2AHA)
o°Hel: ESMEIAXRA (e E2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
01 XM BAEES 22,749,552 2,319,200 20,430,352
OMdASEs0ts2HAl| 3,369,600
O e 0l & X &= XYl 87,000
OAMOIZEXRHESS 720,000
EF0tsHMHZIIZ & H| 5,000
OO el ol 8 X2 | 120,000
OXHOtsHeold A= 19,200
WG EERORSEC =D Falal 150,000
OZ2X A 01 & 0 TH 60,000
CJZOHOtME &l 01 & DI 50,000
O elol&etd B M 2l 52,500
CJCHSMIOt el it & 17,550,000
Ogn=sEs=z 566,252
380 0E 1,626,460 0 1,626,460
= 1,273,734
& 352,726
308 AHXIEHHI S 01 & 1,626,460 0 1,626,460
= 1,273,734
& 352,726
01 XM BAEES 1,626,460 0 1,626,460
OS280e0ld 1,626,460
= 1,273,734
= 352,726
oHeloldetZ I 922,515 1,065,573 A 143,058
= 571,165
= 351,350
Helol&IIsEd 742,515 905,573 A 163,058
= 571,165
& 171,350
403 KX SHHIS AH=0[ & 742,515 905,573 A 163,058
= 571,165
& 171,350
01 AXIEHAELE X 742,515 905,573 A 163,058
OgoldIIsed 742,515
= 571,165
= 171,350
SEFI|Isds 180,000 160,000 20,000
308 AtXIEHM SOl A 80,000 60,000 20,000
01 XM ABLEES 80,000 60,000 20,000
O¥H2EN22FE 80,000
403 XIS 201 A 100,000 100,000 0
01 X ESHXNAEEE 100,000 100,000 0
=23 - geloelold 100,000
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FA HEELEHIIEL

M AMOISHAESLHUDSS (ASIZX/ 0l - BAM)
Sl oS - ZXEX (e @
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
AFOISHAESHULSS (AN /0l - BAH) 41,194,474 41,630,585 ~436, 111
= 11,436,953
3 5,062,000
| 2,237,768
= 598,529
= 21,859,224
OISR - ZXSZ 28,541,705 28,400,999 140,706
=2 10,486,422
2 279,140
= 17,776,143
ER0ISE AL 261,280 261,280 0
2 129,140
= 132, 140
201 Yut2 | 3,000 3,000 0
01 ALR2lH] 3,000 3,000 0
Oz 3,000
OESOIERSIZ YT 3,000
307 212H0| & 258,280 258,280 0
= 129,140
= 129,140
10 AbBl =X 2 258,280 258,280 0
BETPIEEX-PETED 258,280
2 129,140
= 129, 140
OISHASHUANESY 75,000 160,000 85,000
307 212H0| & 35,000 30,000 5,000
NEEEES 35,000 30,000 5,000
OIS 2RAS TS 10,000
OZ= 01210/ Z YA S 25,000
308 XX £ S OI & 40,000 130,000 90,000
01 XGPS XS 40,000 130,000 290,000
[]0121 0] <8 A} 40,000
R EEEY 528,160 526,720 1,440
= 150,000
= 378, 160
307 212H0| & 331,600 331,600 0
2 150,000
= 181,600
NEEEES 331,600 331,600 0
(JYSOISESHSIBSH XA (012) 300,000
= 150,000
= 150,000
OYS0ISESHSIBEANXAE LY 21,600
(OIS SHTHOI L 2 2 ALY 10,000
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CHEEAEIIEY

D ANISEAESHYLES (MESR/

0]
k>
i

CotsdEy - =Xsd SRRy
SA - ZH - 2A(BH) - MEAY - &hen %fﬁiﬁ 2

308 AXIHMSOIA 196,560 195,120 1,440

01 AXEHHMESEXS 196,560 195,120 1,440
OXNSE0tSESHEZI 22 XA (01) 180,000
OXNG0SEad2I|2SAARE =S 16,560

ANE0tSHEEE 1,328,082 1,267,766 60,316

307 212+01 ™ 110,000 82,000 28,000

10 AFRIS X2 £ 110,000 82,000 28,000
DA EEAOtSAZ 2L FH S LA 20,000
Od=AIE0tSsE=2U2AE A 10,000
OAE0tSSE = A 20,000
OIS S X AIE SALAH = 30,000
OOISSXNAESANAS WS 10,000
LOotSEsXSAE2E X 20,000

308 XA M SO0l E 1,218,082 1,185,766 32,316

01 MBS ELS 1,218,082 1,185,766 32,316
OO0tSSXAE2S XA (01) 800,457
OAIZ0tSIIs W= 8,730
OAIZ0tSot Al =& TH 3 18,648
OAIZ0tS W =HI 8,280
OAIZ0tS S A 7,830
OAIZ0tS === 0 &t 12,714
UAE0tsHZ 28] 6,216
OAE0tsad 2l 50,047
OAIZ0tSEAFAR LS 15,540
LOtSSXNAIESAMN-E 151,200
EA0ISTEEEHS(01) 127,500
O 2dotSLFALSS2sAE 10,920

Z2A 0SS 13,640,592 14,517,822 ABT77,230

308 XXM SO0I S 13,640,592 14,517,822 877,230

01 AXEHHMESEXS 13,640,592 14,517,822 A877,230
OgsssSA(01) 2,197,125
OsIsESz2LSA 11,286,570
OXSotSHESSA XA (01) 156,897

KNS OotsdEA=AZ2SH2E XA 136, 100 131,000 5,100
= 136, 100

307 g12+0l ™ 136, 100 131,000 5,100
= 136,100

10 AFRIS K2 £ 136, 100 131,000 5,100
OXSOtSHBACSA2H2S X 136,100
= 136,100

_22_




FA HEELEHIIEL

M AMOISHAESLHUDSS (ASIZX/ 0l - BAM)
Sl oS - ZXEX (e @
_ _ _ Muo
S BB H(BH) - MBAY - B Ao il i~ o Rz

SESIEISER YN 240,958 225,792 15,166
= 166,178
= 74,780

308 XX ¥ S 01 & 240,958 225,792 15,166
= 166,178
= 74,780

01 KRS B A 2 XS 240,958 225,792 15,166
OR2s0ts1E22YX 240,958
= 166,178
= 74,780

OlS 22 X2 F X & 712,993 524,786 188,207
= 631,766
= 81,207

308 XX EHH S 01 & 712,993 524,786 188,207
= 631,766
= 81,227

01 KHXISHZ A2 ES 712,993 524,786 188,207
(JOMS 2 LRI A FXI & 712,993
= 631,766
= 81,227

OIS =X DAL 2 X & 1,636,429 1,581,833 54,59
=2 1,450,000
= 186,429

308 XX £HH S 01 & 1,636,429 1,581,833 54,59
= 1,450,000
= 186,429

01 KX B A2 ES 1,636,429 1,581,833 54,59
(OIS = X DA X/ & 1,636,429
= 1,450,000
= 186,429

CRAEEAY 2,550,000 3,000,000 450,000
= 2,550,000

308 XX £ S OI & 2,550,000 3,000,000 450,000
=2 2,550,000

01 KHXISHHZ A2 ES 2,550,000 3,000,000 450,000
[C2AEEAY 2,550,000
= 2,550,000

NSO S HE 2 Y X2 6,839,271 5,656, 180 1,183,091
= 5,260,978
= 1,578,293

308 XX £ S OI & 6,839,271 5,656, 180 1,183,091
= 5,260,978
= 1,578,293

01 IXISHZ A2 ES 6,839,271 5,656, 180 1,183,091
DX OISHE S S X 2 6,839,271
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FA HEELEHIIEL

HE: AMOISHAHSLHYDSS (ASIZX/ =0 - HAH)
Sl oS - ZXEX (9l & 2
_ _ SIEN
SN EB -GS - MBAY - BES 01l &k o e HRE2
= 5,260,978
= 1,578,293
OIS ERAEIIS2Y 359,520 547,820 188,300
= 272,400
= 87,120
403 X+ X GRS KH 0] & 359,520 547,820 188,300
=2 272,400
= 87,120
01 XIS H =L E 359,520 547,820 188,300
OIS =T A& S22 359,520
= 272,400
= 87,120
X% 0HS MIE{ 22 X2 (XHH) 95,320 0 95,320
307 212+0I & 0,000 0 10,000
EEEES 10,000 0 10,000
DX OISHE AR RALUY AL 10,000
308 Xt XI £H 7 S 01 & 85,320 0 85,320
R EEEREES 85,320 0 85,320
X HOtSHEIBARIRIZ 2 85,320
OIS =X AL S22 (XHH) 100,000 0 100,000
403 Xt GRS XH 0] & 100,000 0 100,000
01 XU =S E 100,000 0 100,000
OIS ST AL S22 100,000
NSOt S MEI B2 YRR 38,000 0 38,000
= 19,000
= 19,000
307 21201 & 38,000 0 38,000
= 19,000
= 19,000
NEEEES 38,000 0 38,000
OXHOtSHEBIIHSY X2 38,000
= 19,000
= 19,000
HAESHE 6,290,720 7,094,720 804,000
3 5,062,000
= 1,208,720
NZEAESRAILAEY 4,048,000 2,076,000 1,972,000
= 4,048,000
403 Xt XI SRS XH2 0] & 4,048,000 2,076,000 1,972,000
3 4,048,000
01 IXISH 22X 4,048,000 2,076,000 1,972,000
OAZEAESE ALY 4,048,000
3 4,048,000
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el

HEEAEIE

AMOISHLASHY

=

[e=)
HAUSHESNY

0]
k>
i

SN M CI(BH) - MIBAE - Aro Bl =2
Ol &k

308 KX SHHSO0IA 48,000 48,000 0

01 RkXIEHXIE a2 X 48,000 48,000 0
N3 AEALE] 33,000
OF2EMZER 15,000

CEATESIELH 563,705 563,705 0
| 184,145
= 379,560

307 2120l & 563,705 563,705 0
| 184,145
& 379,560

10 At =X EX 563,705 563,705 0
O AEHES 563,705
J| 184,145
& 379,560

SHEAUSEANLEHAERE 38,880 19,440 19,440
| 19,440
= 19,440

307 SI2H0| & 38,880 19,440 19,440
| 19,440
= 19,440

10 AtRIS X2 =X 38,880 19,440 19,440
O A2ESAE XA X X2 38,880
Il 19,440
& 19,440

NZE LG HALEEAE X A XX & 184,560 184,440 120
| 184,560

308 AtXIEHMI SOl ™ 184,560 184,440 120
Il 184,560

01 XN B&E 184,560 184,440 120
OAZ&Ad = 184,560
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p) 13,000
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307 21201 & 30,000 30,000 0
10 AHEI S X 2 X 30,000 30,000 0
BEEEPNEL TSN 30,000
308 X+XIEHHISOI & 58,800 58,800 0
01 XS H PR ES 58,800 58,800 0
BE-PYEET - bef 58,800
CHAUHHRY 38,250 78,250 240,000
307 21201 & 18,250 18,250 0
10 AEI =X 2 X 18,250 18,250 0
OCEAGAE 22X & 18,250
402 Q12t R 20| 20,000 60,000 40,000
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